Section A

Open Pairs Tuesday Eve Session February 25, 2020
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Average: 78.0
Pair
A-1 Chic Callas - Andrez Jablonski
A-14 Lorraine Hoyt - Noreen McGowan
A-5 Lynn Daffe - Ruth Whitney
A-6 Mark Davey - Bill Curtis
A-13 Jack Cable - Dick Smith
A-10 Bob Walsh - Bill Grandy
A-12 Diane Emond - Don Emond
A-4 Jan Ogilvy - Darwin Wreggitt
A-9 Jane Stanyer - Deborah McNevin
A-3 Bob Swallow - Nick Smart
A-11 Paula Pasquali - Pat Wiens
A-2 Stan Marinoske - Vickie Roche
A-8 Judy Irwin - Lee Pigage
A-7 Sue Langevin - Judy Waite
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AVE>  78.0 |TOP> & T jetors T
PATESS T2 e e e e
————————————————————————————————————————————————— I 0'all| Section | \
No Name Name |  Rank]| Rank|Score | Pcf |
1 Chic callas Andrez Jablonski 1 1  96.50 61.86
2 Stan Marinoske Vickie Roche 66.50 42.63
3 Bob Swallow Nick Smart 75.50 48.40
4 Jan Ogilvy Darwin Wreggitt 76.00 48.72
5 Lynn Daffe Ruth Whitney 3 3 91.50 58.65
6 Mark Davey Bill Curtis 4 4 90.00 57.69
7 Sue Langevin Judy Waite 50.00 32.05
8 Judy Irwin Lee Pigage 62.00 39.74
9 Jane Stanyer Deborah McNevin 76.00 48.72
10 Bob Walsh Bill Grandy 6 gl.00 51.92
11 Paula Pasquali Pat Wiens 71.50 45.83
12 Diane Emond Don Emond 77.50 49.68
13 Jack Cable Dick Smith 5 5 85.50 54.81
14 Lorraine Hoyt Noreen McGowan 2 2 92.50 58.289

Totals 1092.00



**PATRS**

BOA?D il 2 3 4 5 6 7 8 9 10 11 12 13 14
\

1> = i 2 0 3= 2- 1 5 6 2= 0 2- 3= 6
50 50 -50* -150 30 -50* -140 140* 150% -50* -100* -50* 50 100

2> 3 0 3 3 3 6 3 3 3 3 0 3 3 6
110 -100 -110* 110 110 100* 110 -110* -110* -110* -360* -110* 110 360

3> 3- 6 3- 0 1 3- 2= 3= 2- 5 o 6 2- 0
~150 100 -150 -100* -600 -150 150* -150 150* 600* 150* 620* 150* -620

4> 6 1 4- 5 4- 2 1= 0 6 = 0 3 4 3
1370 170 690 -170* 690 600 -690* 150 -150* -690*-1370* -620% -600* 620

5> 6 2- 2- 2- 3- 5 0 3 2-— 3- 1 Je= 0 6
200* 90 90 90 -90* 110 -200 =G> %0 -90* -110* -90* -150* 150

6> 5 3 4 6 2 0 1 0 2 4 6 3 1 5
170* 100 110 150 -110* -790 -170 -150* -140 140+ 790* -100* -130* 130
> 3- 3= 1 4 6 2 5 2= 0 0 6 1 5 2-
-100* -100* -100 110 600 -110* 200 100 -600* -110 110* -200* 100* 100

8> 6 3 2 4 B~ 2 1 3 = 5= - 5 4 0
430~ 80* -100 50 100 =50* <120 -80 -100* 100 =-100* 120* 100* -430
9> 6 1- 4- 0 6 1= 0 3 T 4- 4- 1- 3 4-
500* 170* 300* -500 -100 =300 100* -200 =300 300* -170 170*% 200* -170
10> 3= 2 0 1 0 2-

2 1 4 6 5 3- 6 5
110* 130* -130* -110 200 -130 -200* -140 130 130* -170 170* 140* -130
11> 4- - 4- 2 5- 5- 1= = 1- 4 4- 1= 4- 1-

450* 200* 450* 420* -200 -200 -450 200* -450 -420 450* -450 450* -450

12> 4- 4- 0 4- 1- 5 4 1 1- 1= 2 1- 4- 6
140* 140* -150* 140% -140 100 -110 -100* -140 -140 110* -140 140* 150

13> 5 2 5 5 0 1 4 4 2 4 6 2 1 1
650* 620* 650* 650* 200* -650 -620 -620 620* -620 -200 620* -650 -650

14> 2 2 2 2 2 4 - - 5- 4 4 5= 4 4

-450% -450* -450* -450* -450* 430 420 420 -420% 450 450 -420* 450 450

15> 2- 3- 3- 6 - 3- 0 5- 2- = 2= 2- 3 5-
~1.50 150* 150* 400* -140* 150* -400 140 -150 -140* =150 -150 150* 140
le> 6 0 5 2 2 6 4 2 4 4 1, 0 2 4
130 -130* -100% -120* -120% 50* 120 110 120 -110* 100 -50 -120* 120
17> 4 5 1 2- 6 5 2= 0 6 2 0 3= 3= 1
-100* 200 -200* -140* 50* -90* -140* =50 420 100 -420* 140 140 90

18> 4 2 2 5= 4 4 By

2 2 2 g 4 4 =
150*% =150 150* 150%* 150* 400* 150* -150 -400 =150 400* -150 -150 -400

19> 5 2- 3- 2= 4 5 0 1 1 0] F 6 2 6
-150 170+ -170 170* 600* 620* 100* 150* -620 -690 ~-170 690* -600 -100
6

20> 0 3 3 3 0 3 3 3 3 3 3 6 3
-730 140* -140 140* -100%* 140% 140* 730* -140 -140 -140 140% 100 -140
21> 0 2 4 2 4 6 1 1 4 5 5 2 1 5
-430 -400 400* -400 400* 430* -50* -50* 400* 50 50 -400 =50+ 50
22> 5- D= 2- 5 3- 2 4 3-

5 = 0 = 1 6
200 -120 -300* -120 120* -200* -100* -100* 120* 100 =90 300 90+ 100

23> 6 1 2- 1 i 3- 5 1 1 1 5 0 5 5
_100* 120 130 -150* 130 -130% -120* -150* -150* -130* 150 100 150 150

24> 4- 6 3 6 4 2 0 4- 1 3 1= 1- 0 5
-50* 250 110 110* 150 =150+ -250*% -50* —200*% -110* 50 50 -110 200

25> 1 1 5 5 5 2= 3= 1 3- 6 1 2- 5 0
-300 50% =50 -50 300* -100 100* 50* 100* &50* 50* -100 -50 -650
26> 0 L= 3 1= 6 4- g 4- 0 4- 1= 4-

3 6
-680 170* -200 -650 680* -170 170* 200* 650% 150* 650* -650 -170 -150



